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Section A: Multiple Choice Questions 56 marks

your choice in this bookiet and shade the correct oval {1, 2, 3 or'4) on the Optical Ang
Sheet provided.

For each question from 1 to 28, four optibns are given: Orie of them is the correct answer. mdi?te

1. Diana wanted to investigate the conditions needed for a piant to photasynthesise. She placed

-4

plant X in a dark cupboand for two days io destarch it completely. After that, she wrapped up
4 leaves, A, B, Cand D, in clear plastic bags containing different substances as shown in the

diagram below.

30

Then she placed plant X under the sun for a féw hours.

clear phsﬁc:bag

Leaf C
{chemical that absorbs
carbon dioxide)

Leaf B .
{chemical that
absorbs water)

LeafD
{chemical that produces
carbon dioxide)

Plant X

Diana then removed leaves A, B, Cand D and tesied them for starch.

Based on the conditions in which the leaves were placed, which one of the following is fikely
to be the results that she obtained? :

Presence of Starch in Leaf
A B € D .
N absent present present present
)] present absent resent absent
{3) present pressnt absent present
(4) present ._absent absent present
Fage 2 of 19
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2.

Taylor wanted to find out if the intensity of fight wouid affect: the rate at which plants
pholosynthesise. He placed an equal mass of water plants under an inverted funnel in
two set-ups, P and Q. He added a Jamp for sel-up P as shown in the diagram beiow and
left them for 2 hours.

column of gas
< ——— bubbles i ~
i o
G- -1 - funnel — f ---cf-f----
X . Dl S 3, S
Z .:-:-—'waterplarit-—— AR - - -
Set-up P Set-up Q

Which of the following should-he measure in orderio diaw a conclusian for his experiment?

A
B
Cc
3

03

(3)

The temperature of watsr in the beaker

The distance between the lamp and the sef-up -

The height of the calumn of gas at the top of the test tube
The number of bubbles given oul by the plantin one minute

A and B only @)
B and D only (4}

Aand C only
C and D only

Which one of the following statements about photosynthesis in plants is true?

{1
(2
3)
4

Plants make starch during photosynthesis.

Plants irap hest energy from the sun ¢ make food.

The chlerophyll found in leaves is needed to trap tight.
Excess food made In plants are only stored in the leaves.

Page 3 of 12
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The diagram below shows a habitat.

Based on the diagram above, which of the following'is correct?

(V) The group of kangaroos form five populations.
{2) The rabbit and the bird form two communities. ‘
(3)  There are only animal populations in the habitat.
(4) There are different populations of plants and animals in the habitak.

Which of the following are examples of organisms that break down dead matter into simpiar
substances?
A Ants
B Fungi
C Bacteria
D Earthworm
(1)  Aand Bonly (2) Band Canly
(3) CandDonly (4) A CandDonly
Page 4 of 19
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6.

The graph below shows how the number of fishes in a pond community changed over a
period of 6 months. The fishes In the pond feed on the water plants.

Number of fishes

1L

(PR, T 5 v

—» Months

[]
k)

1 '
January March June

.
)
]
1
il
Ll

2
;
1

What are the likely reasons for the change in the number of fishes in the pond?

A From A to B, the birth rate of fishes was equal to its death rale.

B From A o B, the number of animals feeding on the fishes increased.

c From-B to C, water planls were removed from the pond.

¥ From B to C, several organism X were added and they competed for focd

with the fishes.
(1) - AandBonly {2y  AandDonly
(3} B and C only (4} Cand Donly

Study the food web below.

Which organisms are both a prey end a predator?

{1) PandSonly (2 QandRonly
(3) SandTonly (4} P,SandTonly
page 50f19
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The food chain below shows the relationship belween four organisms in a co mmunity,

grass —— grasshopper ——— pjrd ———» gnake

Based on the food chain above, which one of foliowin i !
i 2 g graphs shows the change in populatio
of grasshoppers and birds afier the snakes were removed from the communi%) pop k

(1 (2)
Popjkﬁation
Poq lation
grasshopper F
4/\\ bird
o, . /
T~ _ -~ grasshopper
snakes remov *>Time -
ed shakes removed , > Time
@) - (4)
Population Poqyiaﬁon
TSI bird g -..grasshopper
grasshopper bird
snakes removed ¢ Mlime snakes] removed >Time
Page 6 of 19
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= 1k Study the food web below,

/

<

,.,//
T~

Which of the fotlowing correctly classifies the producers and plant-and-animal-gaters in the

food web?
Producers Plant-and-animal-eaters
1) Aand G only Cand D only
(2 7 AandGonly D and F only
(3) C and E only Aand F only
{4) L C and E only B and D only

10.  Thefollowing statements were made by some pupils.

Julia: A-food chain muststart with a plant-eater.
Taylor:  The arows in the food chain show the transfer of enengy.
Shawn: A food chain shows the relationship between pmducers and consumers.

Eugene: At each position in the food chain, alf the eneray s used up for life

processes.

Which pupils had made an incorrect stalement?

1) Julia and Taylor only (2) Julia and Eugene only
{3}  Tayler and Shawn only (4  Shawn and Eugene only
page 7 of 19
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1.

12.

The diagram below shows the stages of growth in a bean.

.8 9 @ ﬁf

Stage C Stage D Stage E ‘
Which of the following statemenis about germination of the bean is correct?

OOowr

(1)
(3)

The diagram below shows the distribution of fhree plant populations near a riveJ‘.

Stage A .. Stage B

Water is:xéquired for growth at all stages.
The bean needs light for.growth at all stages. -
Air is not required for growth at stages B and C.

The size of seed leaves decreases as the plant grows.

A and C only
Band Conly

(2) AandDonly ‘
(4) BandDonly

Based con the diagram above, how were the seeds dispersed?

(1)
2
&)
(4

Key
Parent Plant 0: @
Parent Piant MA
Parent Plant 28
Flow of ver: —»

“Plant 0 Plant A Plant £
animel explosive action water |
animat water explosive action

explosive action animal watéf
explosive aclion water animai
Page 8 of 19
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13.

14.

Food-carrying tubes were removed from the s
plants were then left under the sun and watere

a month.

Which of the following correctly explains the possible observat

,,]J

Plant A

food-carrying
tubes were
removex

Plant B

about plants A and B after a month?

{H
(2).
(3)
(4)

tems of plants A and B as shown below. The
d every day. Their growlh was observed aver

ions that could have been made

Plant A Plant B . Explanatien
died survived Only the roots of plant B were able to obtain food.
survived died Only the roots of plant A were able {0 obtain food.
survived survived The roots of-both plants were able o obtain food.
died ' died The roots of both plants were not able to obtain
food, J

Which of the following shows the correct comparison of gases that we breathe in and

out?

(1)
(2)
(3)
(4)

Breathe in Breathe out
less oxygen more oxygen.
more bitrogeh less nitrogen
more water vapour less water vapour
less carbon g:lioidde more carbon dioxide

Page 9 of 19
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15 . The table below shows parts of the digestive system and their functions.

i6 .

A tick (v') indicates the presence of the function stated.

Parts of the digestive

system

L B C
Chewing takes place v
Absorbs water from undigested food. - _ -
Breaks food down into simple substances v v

Which of the following correctly identifies parts A, B and C?

A B €~
(1| small intestine - ‘stemach mouth *
{2) | small intestine ~““stomach gullet
(3} | large intestine small intestine mouth
(4) | largeintestine | $mall intestine - gullet
Study the chari below.
Plants
ferns
water lly

rose plant

Which of the following correctly represent questions A and B?

A

L

B

(f
(2)
(3)
{4)

Does it bear fruits?

Does it grow on land?

Does it bear fruits?

Does it grow on water?

Does it makes its own food?

Does it grow on Jand?

Does it makes its own food?

Does it grow on water?

Page 10 of 19
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17.  The table below shows the state of three substances P, Q and R at different

temperatures.
Substance ) State of Substance
20°C 40°C 60°C
P solid solid solid
Q fiquid liquid gas
R solid solid liquid

Based on the information above, which of the following statements are true?
A Substance O has the lowest boiling point.
B Substance P has the highast melting point.
c Substance R has a lower freezing point than substance P.

{ A and B only {2) A and C only
3) B and C only (4) A BandC

18.  Sarina lsfta cup of water on the table as shown in the diagram betow.

Which one of the following graphs shows the change in lemperature of the cup of water
over fime?

(1} temperature (2) 'te@pemMre

—> time

—p- timea

(3)  temperature {#)  temperature

» fime : ’ -» fime

Page 11 of 19
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18.

20.

Study the classification chart below.

in which of the following are electrical appliances classified correctly intc

Non-useful form

Useful form
of energy X. of energy X
Group A"' ' Group B

based on the form of energy X7

(1)

(2)

(3)
(4)

Thexdiagram below shows a solar-powered toy. The flower moves from

> Groups Aand B

Group A - GM,B : Energy X
oven water heater - heat energy
computer A bafrd?yér kinetic energy
refrigerator fan light énengy
radio iamp sound energy

side while the leaves move up and down.

(1)
(2)
(3)
(4)

Electrical energy — light energy — kinetic energy
Light energy —» potential energy — kinetic energy
Light energy > electrical energy — kinetic energy
Potential energy —» light energy —» kinetic energy

Page 12 of 19
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91.  The diagram below shows part of a roller coaster ride with positions X, Y and Z.

Which of the following correctly state the energy forms and conversions when the roller
coaster moves along the different positions?

A ?Frcm XieY, potentlal energy is‘converted to. kinetic energy.
B From Y to Z, polential energy is converted to kinetic energy.
C The rolier coaster has more kinetic energy at Y than at Z.

D The roller coaster has more potential energy at¥than at-Z.

(1) A and C only (2) AandDonly
(3} BandConly {(4) BandDonly

‘22, The diagram below shows the path a bali took f?c)‘r‘rﬂi-?boéit_ions X, Y and Z after it was Kicked.

.’o®. -ﬁ-ﬁ
' ' "\

&

position X position Y " position Z
Which of the foiiong descnbes the energy possessed by the ball at the different positions?

A The ball possessed no klnetic energy at Y.
B The ball had more kinetic energy at Z than at, Y.

"8 From X to Y. kinetic energy of the ball increased.
D From Y fo Z, potential energy of the ball decreased.

(1) A and C-only 2) B and D only
{3) A, B and D only (4) B,CandD
Page 13 of 19
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23,

Hul En set up an experiment as shown in the diagram below.

) iron biock
weighing scale

-Figure 1

She placed an iron block on the weighing scale and recorded the reading.

ry

: ‘ -~ bar magnet

| iror+ block
R =] \r«eighing scale

Figure 2

A bar magnet was then brought near the iron block and the new reading was‘recorded. She
repeated the steps with a plastic block and button magnet.

Her results are shown.in the table below.

Reading on weighing scale (g)
Object on weighing scale Figure 1 Figure 3
iron block 12.0 11.0
. plastio ok 120 20
button magnet 120 145

Based only on Hui En’s observations, which of the following conclusions can be made?

A The bar magnet aftracted the iron block,
B _.The bar magnet attracted the button magnet.

(1) Aonly

{2) Aand Conly
{3} B and C only
4 -ABandC

- € The bar magnet has no effect on the plastic block_

Page 14 of 19
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sk, Karl prepared set-up 1. He then piaced object B under object A as shown |
below. The original length of the spring is 2 cm.

- —l

L J L |
spring 3 e retort L
6ecm
object A —~
v '
abject A ——

aobject B :

[ ] [ |

Set-up.1 Set-up 2

What are the forces acting on object A in set-up 27

A Magnetic force

B Gravitational force
Cc Elastic spring force
(1) Aonly

(2) AandBonly
(3) BandConly
(4) A BandC

Page 15 of 19
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- 25,

Jolyn set up an experiment in a dark raom. She shone a torch.on a footba'!j
ground at point T as shown in the diagram below. A shadow was formed on th

L screen

stuck to the
screen,

She then placed the torch. and the screen at different positions. Which of Lhe following

combinations would form the smiatlest s

{1

(2)
(3)
“4)

idow on the screen?

Position of tofc!i“

Position of screen

Q iy

. n

Dl w o

C] < & <

Page 16 of 19
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3¢ . Afi set up the following experiment to find out more about materials K, L, M and N. The

materials were cut into rectanguiar sheets.

torch Pogition1 Position 2

He placed two materials at positions 1 and 2 and observed the shadow formed on the
screen. The table below shows his findings.

Shadow observed on the screen

Position 1 Posifion 2
screen
K L
screen
N K
-~ screen
M

Rased on his observations, which of the following Is correct?

www.testpapersfree.com

Allows most lightto | Allows some lightto | Does not aflow light to '
pass through pass through pass through
(1) M K, N L
@ M, N L K
) N L KM
{4)- B R O L .M.,.rm AP IR S AK:N — - 4> o
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27. Scphia placed equal amounts of water of the same temperature into two containers to
boil. The containers are of the same size but are made of different materials, X and Y,
respec’uve‘y The graph below shows the time taken for the water In each comainer to boit,

Temperature {°C) A

100 1

3

4 Time (m%rL)

Sophla then used the materials to make a contamer to keep some cold water.

Which of the following set-tips will keep the water cold for the longest time? -

3 . (4)

material Y

Page 18 of 19
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28.

When railway tracks are designed, gaps are teft between them to allow for expansion of the
tracks so that they would net be damaged. Each section of the railway track, part X, Is of the

same length.

part X gaps

0|

Top view of the railway tracks

Which of the following information would be most useful to a person building the railway
tracks to ensure that there Is a wide enough gap between part X?

(1) Smallest length of part X on the coldest day
(2) Greatestlength of part X on the coldest day
() Smaliest length of part X envthe hottest day
(4) Greatést iengthof pait X-onthe hottest day

END OF BOOKLET A
Page 19 of 13
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Section B: Open-Ended Questions {44 marks]
Write your answers to Questions 29 to 40 in the spaces provided.

29, The diagram below shows community Z.

(a) What is a community?

BP-~469

(1]

{b}) Based on the picture above, state the number of poputation(s) in comanity Z. M

Organism S lives in the shaliow area of the ocean fioor in community Z,

The following observations were made about organisms R and S,
¢ RlivesonS. -

* Ris of a simitar colour as the ocean floor,

Organism R

Organism S

{c) Based on the information above, how does Organism S benefit from its interaction

with organism R?

(1]

Page 2 of 17
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30. Skyler went to the aquarium. He saw a diagram that shows the food web of the different
organisms in a tank as shown below, '

\ Dus to a disease,
the population of T

P
\ e N —" W has significantly
R |f decreased.
Q \T _

wa v for a0y
and thark you fos wsiting the
syusturn,

{a)  He saw a notice at the comer stating that due to a disease, the popuiation of T
had decreased significantly. 2]

(i) Identify the organism(s) that would be directly affected when T decreased
significantly.

(if) Explain how the organism(s) in (i) would be affected.

Skyler then went home and recorded the different observations about Organisms A, B, C, D
and £ in his aquarium.

A and B are plants. -

E feeds on B.

¢ feeds on Aand E.
C'and E are eaten by D.

2 & 8 &

{b) Based on the information above, complete the food web below by filling in the boxes
with organism A, 8, C,Dand E. 21

Page 3 of 17
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31 | Stephanie placed different amounts of substance X on paper flowers of similar size and coloyr
as shown below. T

10gof 20g of
substance substanc8 s

~ Set-up A Setup B

Shs ‘then placed the flowers in a room fi !Ied with butierflies. She counted the number of
butterflies that were attracted to the paper flowers as shown in the iable below,

Set-up Amount of substance.x Number of butterfﬁeé ‘
. added onto the paper | attracted to the paper | |
flower (g) flower
A 1] 0
B 10 8
¢ 20 )
D "3 .7
£ 40 8
: (a) - Set-up Ais a control set-up. What is the purpose of set-up.A? L1

(b} Based on her results, what can Siephanie conclude about the effects of different
amounts of substance X? [1]

| "y
Page 4 of 17 ‘//Jl
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(Continue from Question 31)

‘The diagram below shows a butterfly obtaining nectar from flower A.

butterfly

flower A

with

[t

(c) Based on the diagram above, explain how flower A benefits from its interaction

the butterfly.

After some time, a fruit developed from flower A. The fruit has many seeds.

(d} Explain why having more seeds is an advantage for ﬂow'er A, i1]

BP-472
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32 {a)  Fillin the blanks with ‘heart or ‘lungs’ in each of the boxes below. Each word Fan only
\
\

be used once. (1

Key:

e + blood rich in carbon dioxide

» blood rich in oxygen

‘-m-v-n-———
S N b

. alparis of thebody = &-uvua-

The diagram below shows tubes X and Y in the stem of 2 plant, which transport su_bsﬂ_ances
within the plant. ‘

tube X ‘
tube Y \
|

|

(b)  Inthe table below, compare the substarces transported in tubes X and Y of the plant

and in the blood flowing through bicod vessels in the human body. 2
Tubes X and ¥ Blood In bivod vessels
(i : (i)
5} )
3
Page 6 of 17 ‘
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33.  Willa ran up a hill. Once she reached the top of the hill, she started walking down. The graph
helow shows the changes in Willa's breathing rate before, during and after running.

Breathing rate
(breaths per
minute}

1 ] ] e
T -

0 5 10 15 Time (minute)

(a)  Atwhich point, V, W, X, Y or Z, did Willa stop running? M

Point

Willa observed that when slie exeréisgd, both her breathing rate and heart rate increased.

(b} Why did. both her breathing rate and heart rate increase when .she exercised?
Expiain your answer. [2]

(i) the increasein breathing rate

(ii) the increase in heart rate

Page 7 of 17
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34, Anthony observed four cells, A, B, C and D, under the microscope. He recorded hi
observations in the table betow. A tick () indicates the presence of the part of a cell.

Cell Part Cell A CellB CeliC Cellp
Cell wall q 1 Y
Mucleus \] = . Y y
Chioroplast | B, N
Celt membrane N \{. , Y] N 1

{a)  Based on his observations, which of the above celi(s) is/are fikely to be a plant cell?
Give a reason for your answer. \ 1]

|

.

\

|
{b} (i} Stafe another common cell parl between celis A, B, G and D that Is not stLted in
the table. [1]

(i) Describe the function of the cell part in ().

graph below.
Number of cells

A

cell &.-":. 7
L el D

AT

|

|
Anthony then observed the celis over a period of time. He recorded his ohservationL in the

|

i

\

|

T > Time

{c)  Based on the table and the graph above, what can Anthony condlude about the
function of the nucleus? : T )

Page B of 17 3
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35 The graph below shows the amount of digested food in various parts of the digesiive systern
after a girl had a meal.

Amount of 4
digested -
food '

A"
T N

mouth guilet stomach  small 13rge pans of the:
intestine intestine _hyman digestive
; © gystem
{a)  Which part(s) of the digestive system produce(s) digestive juices? M

(b} Describe and explain the changes in the amount of digested food in the small intestine,
between points P and R. : 2]

(i From point P to point Q

- (i) From point Q to point R

e ev ot e ot e e AT = S 5 e AP L g i e

Page 9 of 17
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shown in the diagfam below. The mass of balls P and R was 100 g each and the mass of

€ ¢ Tina hung four balls of the same size, P, Q,Rand S, from a rod over a sand tray as
balls Q and S was 200 g each.

ot

~—rod
|
|
|
\

When the strings were cut, the balls dropped and landed in the tray of sand.

(a)  What main energy changes fook place in the balls when the strings we#re cut? [1]

|
: \
energy ' energy . en#r qy

B - ~p

(hanging ball) TG 5a - (ball when i hit sand)

(b) Which ball would make the deepest dent in the sand? Explain your answer in terms
of energy conversion. | [2]

\

|

|

|

|
Diagrams 1. 2 and 3 below show different ways of measuring the depth of the dent.

(c) Which diagram shows the correct distance that Tina should measure for the
experiment? ‘ [1]

Diagram

Page 10 of 17
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(Continue from Question 36)

(dy Tina wanted to compare only the resuilts for balls R and S. What was the aim of h
experiment?

er

(1]

Page 11 of 17
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37.  Thomas gon':;q‘c_teq an experiment using the set-up shown below.
|
$pring
handie |P2rtX
. |
tahblg
b —— block P -

..-.A&;.. - . ek R . . . ..' ) —-+~'-N

device ‘ ' \

; . |
When the handle was ptﬂ{éd, part X was pulled back to compress the 8-cm spring to }5¢;m
When the handle js

measured the distance the biock fravellad acrass the table after the handle was releasgd.

(@) In the diagram beiow, draw and label two forces acting on block P as it travelled
acoss the table. -

u
spring |
block P
handle |PartXx
g table
Ly P ) ' l ‘
‘;ﬁ-"'v—---' ]
device \
Thomas then répeated the experiment with blacks O and 2. He recorded the informat

on for
his experiment are shown in the table below. 1

Block Surface area of hiock in Mass of the block | Distance traveiled by
i contactwith the table (cm?) ()] the block {em) |
P 100 100 12
o] 100 . 200 7 }
| R 120 100 12 = |

(b} (i} Based only ¢n the information given above, identify the factor that affected the
distance travelied by the block atross the table. 1]

(i) Explain your answer in (i), ‘E 1

Teleased, part X hit block P and pushed # forward. Thomas thar

"Page 12 of 17
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(Continue from Question 37)

The spring in the device broke. Thomas decided fo replace the spring. He was given two
8-cm springs, A and B, that could be used in the device. He placed two identical 3-kg masses

on the springs as shown below.

identical masses

(c) Based on the above observations, which sprinig should Thomas use to enable the
blocks to travel a greater distance across the table? Explain your answer in terms of
forces. 12}

Page 13 of 17
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|
|

38. Jia Quan setup an exp.eiiment in a dark room as shown below. He wanteL io find out hoy

much light from the torch-was detected when different cloth samples were placed in thg
material holder.

cloth.sample

|
-'Fight;génsar connectTd to

torch datalogger

support

|
|
materia! holder |
\

He recorted the amount of light detected by the light sensor for each cloth sample P, Q, R and 8.
The positions of the torch, material holder and lightt sensor were kept constant duirihg the expariment.
He recorded his results in the table below. |

Cloth sampie Amount of light detected {units)
: P b o 350

Q 1580

R 200

S 50

|
1
|
\
i
|
{@)  Why did Jia Quan conduct the experiment in a dark room? { 1]
. ' ' ‘
|
\
|
|

(b) Jia Quan wanted 1o make a curain that will keep his room dark durin

. g the daytime.
Which clothr sample should he choose for his curtain? Explain your an

s‘rver. M
\

(c) State two other variables that will affecithé amount of light detected by the light sensor
in the set-up above. 2

(i)
(i)

Page 14 of 17
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39.

Kumar carried out an investigation. He poured 10m] of saliwater and left it uncovered on a
table. After 2 hours, he noticed that the mug was empty except for some white substance left. -

@

{b)

mug 1
RT0T. | S — )
saltwater oo
Explain why oofy-the white substance was left after 2 hours. (1]

Suggest 2 ways Kumar. can oblain the white substance faster using the same
mug and 10 mi of the same type of saltwater. {2]

B

(i)
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40, Sharmim placed two identical flasks, A and B, into identical containers, A and B, respective)y
The flasks were connected by a glass tube with an ink drop in the cenrre as shown in e

diagram below.
|
ink drop _
‘mi _gls
» +——glass tube
|
stopper
\
flask A flask B
conlainer A— _ i container B
water at 5o ec—" —===. \1\ water at 80°C

Shammini then poured equal amounts of hot water into the two containers. The water in
container A was 50 °C while the water in container B was 80 °C. [l

{@)  “Explain why the ink drop moved from the centre of the glass tube towards flask A after
some time. | | ]
|

She then emptied containers A and B and allowed the apparatus in the set-up to cool to
room temperature. She only poured water at 80 °C into both containers. After some time,
Sharmint observed that the ink drop stilf moved from the cenire of the glass fube towards flask
A

| .
{b)  What couid she have done to catse the observation? \ [
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(Continue from Question 40)

Sharmini was given two waterproof malerials, R and S. She decided to test the materials
using the set-ups below. She wrapped flasks A and B with materials R and S respectively.
She then poured equal amounts of waler at 80 °C into the containers as shown below.

thermometer
stopper
ﬂask A : ﬂask B
material R = = material S
waterat80°C—" 2 vater at 80 °C

Using the thermometers in the set-ups, she measured the temperature of air in the flask
after 30. minutes and.recorded.the resuits in the table as shown.below.

" Temperature of air in the flask (°C)
Material
At the start of the -
experiment , After 30 minutes
R 30 ' 80
30 40

(¢}  Based an her observation, which material, R or S. should Sharmini use to wrap her
leftover pizza so that it would stay warm for a longer time? Explain your answer. [2]

~ENb OF BOOKLET B ~
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P& SCIENCE MID-YEAR EXAM 2021

|
Nanyang Primary School
Answer Key |

‘Bookiet A
Awy8 .4 2 11671 o1 [4_ 1267
-2 )34 7 i3 112 14 17: |4 22 12 27
3 13 8 j2 ' 13 |9 T[98 (a4 23 |2 Feg]
4 14 9 14 |14 14 J19.14 |24 (4 |
8. |2  ]10 (2 {15 {3 20013 |25 |4 :
) o ARG O R LT FE U J R
' QnNo' N ; LR . AcceptableAnswers . ‘. = T
29(a) A cammumty’cbnsast of d:fferent pOpufations of organisms living tagether in the same
place... ... . . oot - 'i:.“.. -
28(b} | Five - R 5 D=
29(c) . ;Grganjst he[ps Orgamsm 8 to blend into the surround:ngs S0 lt :ér not easﬂy seen by
RS | p‘fegators : . .

Sﬂ(ﬁ) |y Organism Rand G, S e
(i) Rwill increase. There will be less T feedmg onRso the pupulatioq of R wﬂi incraease
- The pepulation of U will decrease as there |s less TforUtofdedon, . -

N ke

B |—

] C
A/

37@) | T Compare and confirm that the butierflies are atracied to substance D( and r-;ci the
+ paper flower, _ i
‘| 31(b) { Thedmountof substance%, *When present has no effect on the numbgr af buﬁerﬂle$
1 | atiractéd to thie paper fiower. -
31(c). | The butterfly will belp to pollinate Sower A. ' '
31{d) | Havingrhore Seeds \ watmcrease the chances of the seeds’ Jgerminatin% ahd gmwing imo

| aduit alants.”
32(a) . .
heart | PR " 1
. : ]
L r : ) : ‘
1 T 1
E 1 t
} 5 ::, ‘
4 - i |
; lungs " |
: ; |
: h |
1
: : |
> aipartsof thebody 1 oe... ! \
! | K
J §
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32(b} | (i) food (i) water

{ili) digested food (iv) oxygen .
33(a) | PointX ’ ' T S |

33(b) | (i) When she exercises, she breathes faster o take in more oxyger and give out more |

carbon dioxide.
(i1} Her heart will beat faster to pump more blood to all parts of her body.

34(a) | CeliAand C. '{hey have cell wall. ‘
34(b) | Cytoplasm. It is where cell activity takes place. - ‘

3a(c) | The nucieus allows for cell division,

35(a) | mouth, stomach, small intestine

a5(b) | (1) The amount of digested food increased as food was digested. g _
{i) The amount of digested food decreased. Digested food was absorbed into the

bigodstream.
36(a) Patential Kinetic Heat / sound/ kinetic
energy | energy - energy
(hanging balf) {falling balt) (ball when It hit sand)

36(b) | Ball Q 1 had the greatest mass and was hung highest from the sand Tray. Hence, most -

potential energy would be converted fo most kinetic energy, causing the deepest dent.
36(c) | Diagram 3 .

36{d) | Tofind outif the mass of the bail affects the depth of the dent made,

37(a)

frictional force I

"
i

l gravitational force

37(b) | (i) Mass of the block
(#) Comparing biacks P and R, when the mass of the blocks are the same but the surface

area in contact with the table is different, the distance travelied by the blocks is the samea.
Comparing biocks P and Q, the greater the mass of the. block, the shorter the distance

travelied by the block.

37(c) | Spring B. When identicai cubes were placed on the springs, spring B compressed less.
Thus, when compressed lo the same fength, spring B would exert a greater efastic spring
force on the biocks.

38(a) | To ensure that the light detscted by the light sensoris only from the torch.

38(b) | Cloth sample S. The least amount of light was detected when cloth sample S was placed
in the material holder. , '

38{c) | Light intensity of the torch
Thickness of the cloth sample

39{a) | Only the water In the saltwater had evaporated, feaving behind the salt. -

30(b) | (I} He couid heat up the saitwater.
(if) He could add-a fan to increase wind around the saltwater.

40{a) | The air in flask B gained more heat from the water and expanded mare.

40(b) | More water was pouted into conteinet B.

40(c) | Materiai S. The temperature of the air in ﬂaﬁk B Ihcfe;ééd Iess Méfeﬁal'é is a poorer
L conductor,of.héatand,would,,oonduct‘heataway.zfr.om..m.pizzawto..t.hﬁ.suﬂgungings more |
slowly. ‘
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